MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

(GI-1, GI-2, GI-3, VI-1, SI-1, VDI-1)
DATE: 14.08.2021 MAXIMUM MARKS: 100 TIMING: 31 Hours

SECTION - A
Q. No. 1 is compulsory.
Candidates are also required to answer any four questions
from the remaining five questions.
In case, any candidate answers extra question(s)/sub-question(s) over and above
the required number, then only the requisite number of questions top answered in
the answer book shall be valued and subsequent extra question(s) answered shall
be ignored.
Working Notes should form part of the respective answer.

Answer 1:

(a) We know that as per the realised yield approach, cost of equity is equal to the
realised rate of return. Therefore, it is important to compute the internal rate of
return by trial and error method. This realised rate of return is the discount rate
which equates the present value of the dividends received in the past five years
plus the present value of sale price of Rs. 1,128 to the purchase price of Rs. 1,000.
The discount rate which equalises these two is 12 percent approximately. Let us
look at the table given for a better understanding:

Year Dividend Sale Proceeds Discount Present Value
(Rs.) (Rs.) Factor @ 12% (Rs.)
1 100 - 0.893 89.3
2 100 - 0.797 79.7
3 100 - 0.712 71.2 | Y3 M}
4 100 - 0.636 63.6
5 100 - 0.567 56.7
6 Beginning 1,128 0.567 639.576
1,000.076 |/
We find that the purchase price of Alpha Limited’s share was Rs. 1,000 and the)
present value of the past five years of dividends plus the present value of the sale
price at the discount rate of 12 per cent is Rs. 1,000.076. Therefore, the realised rate r{2 m}
of return may be taken as 12 percent. This 12 percent is the cost of equity.

J

Answer:

(b) Plan I= Raising Debt of Rs. 2.5 lakh + Equity of Rs. 22.5 lakh.
Plan II = Raising Debt of Rs. 10 lakh + Equity of Rs. 15 lakh.
Plan III = Raising Debt of Rs. 15 lakh + Equity of Rs. 10 lakh.
Calculation of Earnings per share (EPS):

FINANCIAL PLANS
Particulars Plan I Plan 11 Plan III
Rs. Rs. Rs.
Expected EBIT 5,00,000 5,00,000 5,00,000
Less: Interest ‘@ (25,000) (1,37,500) (2,37,500)
Earnings before taxes 4,75,000 3,62,500 2,62,500
Less: Taxes @ 50% (2,37,500) (1,81,250) (1,31,250)
Earnings after taxes (EAT) 2,37,500 1,81,250 1,31,250
Number of shares * 15,000 10,000 8,000
Earnings per share (EPS) {1mM{ 1583 | 1m{ 18.13 | {1 M} 16.41

Financing Plan II (i.e. Raising debt of Rs. 10 lakh and issue of equity share capital of

Rs. 15 lakh) is the option which maximises the earnings per share.
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Working Notes:

(a) Calculation of interest on Debt.
Plan I (Rs. 2,50,000 x 10%) Rs. 25,000
Plan II (Rs. 2,50,000 x 10%) Rs. 25,000
(Rs. 7,50,000 x 15%) Rs.1,12,500| Rs. 1,37,500 b {1/2 M}
Plan III (Rs. 2,50,000 x 10%) Rs. 25,000
(Rs. 7,50,000 x 15%) Rs. 1,12,500
(Rs. 5,00,000 x 20%) Rs. 1,00,000| Rs. 2,37,500
(b) Number of equity shares to be issued \
Rs. 22,50,000 _
PlanI: = 15,000 shares
Rs. 150 (Market price of share)
Rs. 15,00,000
Plan II : == D - 10,000 shares >{1/2 M}
Rs. 150
Rs. 10,00,000  _
Plan III : ——————————— = 8,000 shares
Rs. 125 J
Answer:
(c) Workings:
0 Fi Al L EBIT o ) EBIT
i inancial Leverage = r,
9 EBIT ~ Interest EBIT —Rs.5,000 ( {1/2M}
Or, EBIT = Rs. 10,000
N
.. . Contributi  on
(ii) Operating Leverage =
EBIT
Contributi  on > {1/2 M}
Or, 3 =
Rs .10 ,000
Or, Contribution = Rs. 30,000 )
Contributi  on _ Rs. 30,000 _
(iii) Sales = = = Rs.1,20,000 }{1/2 M}
P /V Ratio 25 %
(iv) Fixed Cost = Contribution - Fixed cost = EBIT
= Rs. 30,000 - Fixed cost = Rs. 10,000 {1/2m}
Or, Fixed cost = Rs, 20,000
Income Statement for the year ended 31st March, 20X8
Particulars Amount (Rs.) |)
Sales 1,20,000
Less: Variable Cost (75% of Rs. 1,20,000) (90,000)
Contribution 30,000
Less: Fixed Cost (Contribution - EBIT) (20,000) >{3 M}
Earning Before Interest and Tax (EBIT) 10,000
Less: Interest (5,000)
Earning Before Tax (EBT) 5,000
Less: Income tax@ 30% (1,500)
Earning After Tax (EAT or PAT) 3,500 JJ
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Answer:
(d)
Year 1 Year 2 Year 3
Cash | Probability | Expected | Cash | Probability | Expected | Cash | Probability | Expected
Flow Value Flow Value Flow Value
(Rs.) (Rs.) (Rs.) (Rs.) (Rs.) (Rs.)
2,000 0.1 200 | 2,000 0.2 400 | 2,000 0.3 600
4,000 0.2 800 | 4,000 0.3 1,200 | 4,000 0.4 1,600
6,000 0.3 1,800 | 6,000 0.4 2,400 | 6,000 0.2 1,200
8,000 0.4 3,200 | 8,000 0.1 800 | 8,000 0.1 800
ENCF 6,000 {1 M} 4,800 {1 M} 4,200 {1 M}
The present value of the expected value of cash flow at 10 per cent discount rate
has been determined as follows:
ENCF ENCF ENCF
Present Value of cash flow = L+ 2 + 3;
@tk 1Tk 1*K)
_ 6,00 480 4,200
't an®  an’
= (6,000 x 0.909) + (4,800 x 0.826) + (4,200 + 0.751)
= 12,573
Expected Net Present value = Present Value of cash flow - Initial Investment
= Rs. 12,573 - Rs. 10,000 = Rs. 2,573. ¥{2m}
Answer 2: N
Particulars % (Rs.)
Share capital (given to be same) 50% 1,00,000
Other shareholders funds 15% 30,000 L {1 M}
5% Debentures 10% 20,000
Payables 25% 50,000
Total (1,00,000 / 50%) 100% 2,00,000 |

Land and Buildings
Total liabilities

Rs. 2,00,000

Fixed Assets

Total Assets

Total Assets

60% of total fixed assets and current assets

Rs. 2,00,000 x 60/100 = Rs. 1,20,000 }1/2m}

Calculation of additions to Plant & Machinery

Rs.
Total fixed assets 1,20,000
Less: Land & Buildings 80,000
Plant and Machinery (after providing depreciation) 40,000
Less: Existing Plant & Machinery 30,000
(after extra depreciation of ¥ 5,000) i.e. 50,000 - 20,000
Addition to the Plant & Machinery 10,000

Current assets Total assets — Fixed assets

Rs. 2,00,000 - Rs. 1,20,000 = Rs. 80,000 {1/2 m}

Calculation of stock

. . Current  assets stock
Quick ratio : = =1

Current liabilitie s
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Rs. 50,000
Stock Receivables

Receivable turnover ratio

2 X credit sales
Credit sales

Gross profit (15% of sales)
Rs. 2,40,000 x 15/100 =

Return on net worth (net profit)

Net worth =

Net profit
Debenture interest

Rs. 80,000 ~ stock

Rs . 50,000

Rs. 80,000 - Stock

Rs. 80,000 - Rs. 50,000
Rs. 30,000

4/5™ of quick assets

(Rs. 80,000 - 30,000) x 4/5
Rs. 40,000 X1 m}

Re ceivables

X 12 Months
Credit

Rs. 40,000 * 12

Sales

Credit Sales

4,80,000

4,80,000/2

Rs. 2,40,000 = Total Sales }1 m}
(As there were no cash sales)

Rs. 36,000 H1/2 m}

Rs. 1,00,000 + Rs. 30,000
Rs. 1,30,000

Rs. 1,30,000 x 10/100

Rs. 20,000 x 5/100

2 months

2 months

Rs. 13,000 H1m}
Rs. 1,000 H1/2m}

Projected profit and loss account for the year ended 31-3-2020

{2 M}

>z m)

To cost of goods sold 2,04,000 | By sales 2,40,000
To gross profit 36,000
2,40,000 2,40,000
To debenture interest 1,000 | By gross profit 36,000
To administration and other 22,000
expenses (bal. fig)
To net profit 13,000
36,000 36,000
Projected Balance Sheet as at 31° March, 2020
Liabilities Rs. Assets Rs.
Share capital 1,00,000 | Fixed assets
Profit and loss A/c 30,000 | Land & buildings 80,000
(17,000+13,000) Plant & machinery 60,000
5% Debentures 20,000 | Less: Depreciation 20,000 40,000
Current liabilities Current assets
Stock 30,000
Trade creditors 50,000 | Receivables 40,000
Bank 10,000 80,000
2,00,000 2,00,000
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Answer 3:
(a) Statement showing the Evaluation of Two Machines
Machines A B
Purchase cost (Rs.) : (i) 1,50,000 1,00,000
Life of machines (years) 3 2
Running cost of machine per year (Rs.) : (ii) 40,000 60,000
Cumulative present value factor for 1-3 years @ 10%: (iii) 2,486 --
Cumulative present value factor for 1-2 years @ 10%: (iv) -- 1.735
Present value of running cost of machines (Rs.): (v) 99,440 1,04,100
[(ii) x (iii)] [(0i) x (iv)]
Cash outflow of machines (Rs.) (vi)=(i) = (v) 2,49,440 2,04,100
Equivalent present value of annual cash outflow {2 MK 1,00,338 [{2M¥ 1,17,637
[(vi)+(iii)] [(vi)+(iv)]

Decision: Company X should buy machine A since its equivalent cash outflow is less

than machine B.

According to Walter's model when the return on investment is more than the
cost of equity capital, the price per share increases as the dividend pay-out

ratio decreases. Hence, the optimum dividend pay-out ratio in this case is nil.
So, at a pay-out ratio of zero, the market value of the company's share will

Answer:
(b) () Walter's model is giveny by
Dt L (E - D)
K
P= .
K e
Where
P = Market price per share.
E = Earnings per share = Rs. 5
D = Dividend per share = Rs. 3
R = Return earned on investment = 15%
Ke = Cost of equity capital = 12%
3+t " (573)
P = 0.12 = Rs.45.83 H2M}
0.12
(ii)
be:
0.15
0+ (57 0)
P = 0.12 = Rs.52.08 H1m}
0.12
Answer 4:

Statement showing the Working Capital Requirement of the Company

A. | Current Assets : Rs.
Stock of raw materials 10,80,000
(Rs. 64,80,000 / 12 months) x 2 months
Work-in-progress 5,81,538
[(Rs. 1,51,20,000 x 4) / 52 months] x 50%
Finished goods 12,60,000
(Rs. 1,51,20,000 / 12 months)
Debtors 20,16,000
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(Rs. 1,51,20,000 x % x 80%)
Cash balances 1,00,000
50,37,538
Current Liabilities:
Creditors of raw materials 5,40,000 |H{1 M}
(Rs. 64,80,000 / 12 months)
Creditors for wages & overheads 2,49,231 {1 m}
[ Rs . 86,40 ,000 7,89,231
——— X 1.5 weeks
52 weeks
Net Working capital (CA-CL) 42,48,307 {2 m}
Working Notes:
Calculation of Total Annual Cash Cost of Sales
Annual raw materials requirements (Rs.) 64,80,000
(1,44,000 units x Rs. 45)
Annual direct labour cost (Rs.) 28,80,000
(1,44,000 units x Rs. 20)
Annual overhead costs (Rs.) 57,60,000

(1,44,000 units x Rs. 40)
Total Cash Cost of Sales (Rs.)

1,51,20,000 {2 m}

Answer 5:
Working Notes:
(1) Calculation of Collection from Trade Receivables: A
Particulars December January | February March
Sales (units) 1,800 1,875 1,950 2,100
Sales (@ Rs. 600 per unit) / 10,80,000 | 11,25,000| 11,70,000| 12,60,000 >{1 M}
Trade Receivables (Debtors)
(Rs.)
Collection from Trade 10,80,000 11,25,000| 11,70,000
Receivables (Debtors) (Rs.)
(2) Calculation of Payment to Trade Payables:
Particulars December | January | February March
Output (units) 1,875 1,950 2,100 2,250
Raw Material (2 units per output) 3,750 3,900 4,200 4,500
(units) >{1 M}
Raw Material (@ Rs. 150 per unit) 5,62,500 | 5,85,000 6,30,000 | 6,75,000
/ Trade Payables (Creditors) (Rs.)
Payment to Trade Payables 5,62,500 5,85,000 | 6,30,000
(Creditors) (Rs.)
(3) Calculation of Variable Overheads and Wages:
Particulars January February March
Output (units) 1,950 2,100 2,250 am
Payment in the same month @ 1,95,000 2,10,000 2,25,000
Rs.100 per unit (Rs.)
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(a)

Preparation of Cash Budget

Answer 6:

(i (a)
(b)
(c)

fasr B 99 BgA AR R AdE gRT T T N Bl Hefid BRal g,
IMAR W qfoias @bl 3 T 8IS @y & fou, faxia dwemHl gR1 e a9 &
Wfdd faaRoT| o dR W A<y G @ gRem & RHien, o Wl & e
ARERT NS @1 ufsharall &1 &iftM wU o § |AY Rl &, 9ol 8 uRATST &1
AHRIAD Jib HIT TAT 81| BIifh, T IR T9 R0 AGIad ®U § Ipd 8l
ST E, A wH U gRASHRN B e dvd H IR wHy T8 viam @ forg e
BTSN @] AT BRAT & | 39 A8 @ SRR T Bl AW AR W oA (@ & ol
BT AT H BT ST & | I8 el FURy, ARG TRET 3R AW ga9 U5 & gheddd
mW%lWﬁ?Wmmlsﬂ'ﬂwwmaﬁﬁﬁaﬁ?aﬁwﬁaﬁ’cﬁj
Bl ®

AT o qie: I U 97 § TRl @ &)X 99 7l ¥ 3R IR @ Rft @ o)
TR R DI AN & | A ISR UGN § DT SUANT SARIGAT 7ol &R0 H ARRAT
% RacTTh ga BT gar & AT PR Fbd & | d U ol dIoR AEE & wd H 3D
AT B MY § R ASSHIAE, srgdesdes s oM fRg WREl gRT
ST by 7 & 7
e Bfee: e Bfee e Faides o1 dof gRT SuTer w137 I 21 @is A
fafdes, e T SHP fdael @R gRT SS9 Uel H @il U Hfse & Uh

|

EN

Particulars January February March
(Rs.) (Rs.) (Rs.)

Opening Balance 35,000 3,57,500 6,87,500
Receipts:

Collection from Trade Receivables 10,80,000 11,25,000 | 11,70,000
(Debtors)

Receipt of Long-Term Loan 2,00,000

Total (A) 11,15,000 14,82,500 | 20,57,500
Payments:

Trade Payables (Creditors) for Materials 5,62,500 5,85,000 6,30,000
Variable Overheads and Wages 1,95,000 2,10,000 2,25,000
Purchase of Machinery 3,00,000

Total (B) 7,57,500 7,95,000 | 11,55,000
Closing Balance (A - B) {1 MY 3,57,500 | {1m¥ 6,87,500 9,02,500 [H{1m}
(b) Calculation of Current Ratio

Particulars March (Rs.)

Output Inventory (i.e. units produced in March)

[(2,250 units x 2 units of raw material per unit of output x Rs. 150 9,00,000 {1 m}
per unit of raw material) + 2,250 units x Rs. 100 for variable

overheads and wages] or, [6,75,000 + 2,25,000] from Working

Notes 2 and 3

Trade Receivables (Debtors) 12,60,000 {1 M}
Cash Balance 9,02,500 H1/2 M}
Current Assets 30,62,500

Trade Payables (Creditors) 6,75,000 [H{1/2 m}
Current Liabilities 6,75,000
Current Ratio (Current Assets / Current Liabilities) 4.537 approx. [H1 M}

Y2 m)

{2 M}

({2 m}

ARG T3 WX SHD AT TP g afa smewr faar w2, Aew pfse o1 o
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(i)

o & oIy 9% | HUs PR Ahdl © | TP AP R 59 TR g MU i @)
frafa faell &1 ardea a1 srgafed e 9 Fafd o & uifl & 9R9 811 &1 arie

3 180 faAT & WioR aRHATE fhar ST oMaey® 8 |1 39 UhR UfhT Hise ifard wu
I Th 3fTbIferd HH 2 |

U TR g Thade dRE Be' & oid Mdy )R Red ¥ o8 2 a1 i Sdle sfaad i)

gNUg R Red g8 # Aeg BT BH Bl R0 A TR AN R B &I dad I 4 o

~

J

BT | BT, 16 ST &1 AT Ufed & &1 EFfY A I8 3faad) oik SUvd @) ara=yy &1 ({2 M}
afdae ®U ¥ gwifad X iR uRvREwy ®H R Hae H 81 gadl § | I8 BRI B fd
fa<fir S<ATer= @1 "SR deaR” & w9 H ST ST ¢ | J
Effect on EPS and ROE:

When, ROI > Interest - Favourable - Advantage }{2 M}
When, ROI < Interest - Unfavourable - Disadvantage

When, ROI = Interest — Neutral — Neither advantage nor disadvantage.
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ECONOMICS FOR FINANCE

SECTION - B
Q. No. 7 is compulsory.
Answer any three from the rest.

In case, any candidate answers extra question(s)/sub-question(s) over and above
the required number, then only the requisite number of equestions first answered
in the answer book shall be valued and subsequent extra question(s) answered

shall be ignored.
Working Notes should form part of the respective answer.

Answer 7:

(@) (i)

(i)

Answer:

WRER i Rerdl GARFT o= & foIg exdeiy ol ® 3R 39 UoR 1 Aifay e )
i Hifgdw (Hfse) N ik Ioea (F9id) Afd & @ o A & i
BT 7 | Alfgd AT &9 B SUASIAr IR AR, A1 T &I &R Bl J9Ifad dxdb
srefegaRerr § gt ART & ReR e &1 T el 2| SO R, I Aify &
I WIR & X, WAuld I AR Adee kol § gRaIdT dad qd AT Bl
AT HAT 8| 919 ol @9 9gd BH &8I, Al WRER RIRRI I HF G & [l
U @Y 3R / AT BH BRI DI GT Ahdl © IR Duld db ATl &I Bl HH B AP
2| 99 qA TG JAMEH BIAT 7, AT TR M0 @d H FEkdl B Fadl © R A7 H
Pl GTHR oI RORTT BT 4STdT @ ADl & IR dald b ANl &Y 1 Fhdl & | 3D
3TN, TRBHR HeI AT iR Aod %ol S e Surdl o goend &) dadt 81

+ IRARMS b I I feuifore + dfeT I9g & I Fc feuifvie + ure 3Siifha

{1 M}

r{1 M}

M4 = &Rl & 9 95T @ik g + daf @ ar feare feuifSre (@re) ok s=a @nd)}
{1 M}

QAT (et | Gfiéfhae Bl BlsHR) & AT Hel OF |

(b) fIT MR TS (The WTO: A Few Concerns) &8 ==iTg
BT @ Juf H, fIvd UUR GeT & I H Y Sols Ts © AR Ser fIvg AR
FRT BT FY Y& AR fIRAR B &) e7ar 8| U R

()

(ii)
(iii)

WW@WW@%W%W@W%@?WW%WWW\
BT ATRIDHAT U /T & WU H BRI BT 2 IR ReA H HSRAr U&7 =ell & | Aciroiad,
<Y GFAIE P Uh dbfeud [dbed g B SHD @], FHPIM AUR qEG Th
U g H qradid de H o1 Sifed iR ®feA 2| difhd w9, 39 Wl BT fgueiy
T AT WR W TN BRA H A AT I R

g Felidl @& SIfcd wicad dR¥dd AR Uomell H§ AREddr iR gaREe &l
aRerd <d 2 |

Tgueld vl F SiEifie a¥gell W SR% &1 gl €T | &9 ) QAT 8, Siafd @i,
T 3R URUM H IR B ISRIGIUT B 3R RIS aforsd & s 3T &3l H

SUSEdl 9gad T F |

9|Page

Components Rs. in Crores
AT & YT &l 1,12,206.6
dol & U fears feuifvre 1,93,300.4
VY MRS, & YT oAl 614.8 [}{2 M}
S U BT YOl & 1T STAT BRdl © 2,67,310.2
STHER gad o T 277.5
Eas 5,73,709.5 |

(Any 6
Point 1/2
M each)
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(iv) <l fierd SR oRfl 9d=aq iy, 9l # el 3 @ €, 3R SHar Afded
Aherdr fewer B |

(v) e <9, Ry wu ¥ [erelia <9, f[9va uR E§7ed 9 K § Hid,
IER H dR¥qPH AR &1 fRAR oA & folv o7 SR AHgid & AfHBIeT arar a1
gRoTH =TE1 3T 2 |

famraefier <o 7 ®% fawmit &1 Sorm € &R $v I8 uxd fHhy U &

(vi)y faeraeia <= &1 96 © & BN, $usr IR Jaei & OF ygu a3l § AR Bl
Jrfas faRdR RIS S 8T ©

(vii) 9gUEl SR W IR Ugd Ya o1 & foy f[Aafid <2 & dra ERefvEe sk
MG & HH 7 By [ABmreiea <2 Bl e fAdmed daee & fog uRa far 2

(viii) #oET wEsial & dF] B H wfoarsal & W § fereia <l 7 <R voler #
& Tt ST 2|

(ix) SRR AFFRNT 966 H W $U 9 IaR—<l@or [T faeg @R |ire oma+
P T80 IR fIRdR @ I @ R § fAsraeiia <o & ofrdr &f IR &rar
RET 2|

(x) faefaa <=l 9 Rread 3 2 6 9 38 IRl § 9ad SRl W SHERY S Yob
BT AHA A 2 IR g 9P HAs@yul T Bl AdBT © | SAIERYT a8, U 3R
Aol 3R ATl SdTal R SR% =AIfedr B

(xi) U 3 UgQ HEl WA UER 9 GRT § olel U IS o $ed Jd AR
gehl & AT W HH Al &l FIRdT e iR IR SdGT R Swd dadl &
SIRT g TRiRBRoT a1 fAfHAfor ST a1 gRem ovar 2|

(xii) RIS BT W eROT AT B AhdT 7, AT [AHRid <2 gRT §p [Aaraefia e 4
IR R RN uged RIRE I iR ST &% @ 419 3R & $H B D
DRI HH ATfh 99 TS B |

(xiii) @9 ¥ HA [AHRYd < 7 A9 R SRARIAN Uoll, ©RI9 gHAmEl @, udi

HRIHl, RISTITd ARRAT MMfE B B A TR & F= H Y wd 4 dfed
3R Irgfera um |

Answer:

(c)

SI8T R (The Doha Round)

GIeT GR AUeRe wU A <8l [Jerd yoiel, o fgdia fdva & 91 | 9a9 SR 2, ATDING )
TR R FawR 2001 H QIET, HoR H fdvd AUR HrSd B dr AN aWed § g har
AT AT | IE AR IRMGLII AUR Yol & Y AeME] B YT SR Bl G IRl § A
WW@WG@@HWWZ%WWWH#@@WWWW%WJ
MR ARE] R GG @R a4 & J1eem 4§ arar § $f¥ & 20 &3, HfN, Jawi &)
AR, IR—HY IRl & oY qoiR 98 R §o difgs wwar gel |fed ofid 21 onfl a®

({1 M}

+{1 M}

B FIW [AGIeTUE HE, I8l YoisT A B3 & [y SHiY AR A 1T & |

Answer 8:

(a)

fdeq MR GT6d &1 AT (The Structure of the WTO)

ﬁwwwﬁﬁ%@ﬁﬁﬁﬁmﬁﬁ%wmmw@ammé’
fSTAP! <Icd Teb HEIMQES BIAT € | 399 F97d o1 &1 Usp i R gorell € fdvg &R
Hred & Y R @ ol o arel e e A IRed 8 S 9guei IR gHsial
@ ded 9l el R Ao o daar 81 AR R ) a1 99 4 BH | BH U 9
frerar 2| I R ff R Aifa e 4 ok fQare faem e & v & fierd 21
IRTAT WR WX Ire uRye, Jar uRug iR difgs Iwer (SRmRensiis) uRye Ruié S+Re)
gReg & U 391 URYGl @ fIRIvsdr & oruw wfa &3 § SRl wwsidl & drataa-
@ AR & forg RweR 2 o3 oy afifrll, o 99 ok #rika widdf afaasa

+ {12 M}

}{11/2 M}
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|l SR ggTaRol, I, Fewgdl JguArl R &g GUR qHeidl o 31 &3l & |1l
GIEUCaCI

Answer:

(b)

yferargdrl daedie gfidae s ard Yoo RG2S Fafaet grr Fafa ey 1w e w)
A HH B BT SfHve R 2 1 Fafd afsds & o O € iR e B Sw @

WHR gRT B S alell SR G U a4 2| oFR feh R 3 & Rl @y aremr 3 {1 M2

M TE BIAT € IR WReRI afegs! faesl BH @l Sare & fafde 8 @l srgHf
ol €, A1 AfaSl dEEEl & Jad AUR Sfided 9 UH WU I dRdl 2 | UH A
T IRl & SFd iR IR W qed gHfEad a3 @ fog Fafael &1 afsast )
AT arel A B TBRA B fOIY IR BRA ATl < H AT BT Yob AT SIEr 7 3R
S BNe], SEN 3R HHAT BT &l Bl 8 | S&IeRVl & oy, 2016 H, AU X SET B
e & oy, YRA F AR I A & AR AT TR 12.5% BISCIAT Y[edb AT |

J

Answer:

(o)

TPHd! U (Technical Measures)

I. I U BIgeRHe (TEUIvE) Sudl: tadies SUrl A4, STHaR A1 Wiell @l e B )
fore @FL B 8 o f5 anTere, de, gt uerl, fawed gt @r I ¥ ieR g
Il Sfial IO B Tl SIRgAT iR Sra—fafqerdr & vem & fog g 2|

y{1 M}

ST Ufde a1 B awgRll B ST W UfEw, [UEdl 3R WeS aegadrail ?ﬁ>{11/2 M3

fFrafd &= el |l SUAl, SeaTed ufharet iR ARg U oAb WA & |
IR & fory; vl wel, A9 QiR Uied] URIvaxvl AFd | UHIfad <2l 9 divd dedl
P AATT TR AHATH, JTSTHDT DI BH B, @mwﬁﬁaﬁaﬁm‘cﬁEﬁ%ﬁmﬁw
NGRS

II. W%WWW(W).WEEWWW(W),ﬁw\
IR IR—EE JURG IAET aHl BT AR Bl 8, AMARS AFd R dHhd!
faf e &1 Seorg FRal & o St 3 fafdre fagryansh & aRvfia ot €, o b
SADI MBHR, AGHfd, ST, Tl / 3id / UBfSHT, HRieTar a1 UeeH iR Ired
faferal, vaditw IHsid gRT $a) SUR &l BledR | I§ Sirad & oIU SHTe Bl o+
arell faftre gfbard & 6 1 Soe aradd d S STaeIharsll (STl Hedld
gforarsil S o¥ieor, e 3R UAOE) @ oTgwY ', <l # ol wmfte @ g
frafae <o 4 Riodie 9 ggal w1a @ AR o, A iR qod T i 2 |
T TNTE & wU H, S ST AMG—SMETRA SURT § S <97 3799 SUHIGRN Bl
AT @ @R URfde FERET B WA A @ oy ST aRd ', dfdd g%
JTATT PR B oI qrermell & ®u § W WA fhaT ST AT & T AT & RIaTd
WSHTg 3R BRG] JUTRT BT Rell PR Fhal © | T aroR 7 fafde sravasdmsil &1
WW?)%I‘Q\%NIQ[@?\%NIQ#mﬁiﬁmﬁmﬁﬁﬂﬁ?ﬁéﬂG%W
IR B [T & T SRR AR W IS @ B ARRaE AT 1 Jher qguld

8¢ AN 9| THIST & {B [&IERYT & WE B, Tora A, Srenfire
A, BIaf-Th YAV, YITARU—Ad e, fduor 3R ofddl Araededhany |

Answer:

(d)

IR AR $T afTHag REDIT (The Mercantilists’ View of International Trade) )
HeTe Wfdedl @1 N, afvrpare, g9 meR W SR off fb i # gig oxe sk
'aﬁﬁw&ﬁwmﬁv@uwsﬁ?mﬁﬂwﬁaﬂ?ﬁmmaﬁm%l

{1Y/2 M}

qforepare] 1 A © b Ueb <9 Sfferes A 3R =Tl ST BT &, FHR o Sl & | dfvrepare »{1 M}

T ¥ e (@ Grgsi) B o SR FEafd B dH R & fay i @ erfteas

el avqgell W 9ga 1fd® Yo Al W AT| H 3iedIv
, arel Bl BR §U € SR Ub < Bl

P dP & b AR
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Bl o/ oo & Jpa & W) 8, R 6 gl & 9/ g9 a1 | g 9edd
BT 8 Y| A1G W RIS §RT B8 Al BT A PR B 918 AMRAT §RT U qD!
® afed &= fear T grenfe a8 ot Wt g Aeayrt Rrgra © off TR § %8 991 8
ol | gl rfegavenall & arg Al B Famwr 8

Answer 9:

(a)

gaR & oIy |eel ART (The Speculative Demand for Money)

Al APHAE Ahe FI Bl AEADHAT dlel BT 9 Md¥d A9 & R BT BRIET S & oy
B! G DI AN BT ST BT A © | DA S dd ART 4= H AT Bl & H q&l1d B
HRIET 98N & foly H&T & Ao &1 @l AN &_d g, ST dive & SHFdl § 9iis # 95 &
| 2| U8 B B Rgra # FRT ©, [ Ra & ) W IR H dfvs R aRA 7| H T AF
foram o f Ja1 R uied Resl g €, Siafd divs wR mfgd Resl a1 UeR & B B, plfc:

(i) = g

(i)  goiiTa @™ @l Suferd <X |

JivE & TOIR Hod AR Tol Pl IO &R Yahd A GO § Al & a9k &% H iy dive
% IR I H B, IR s [Juid | ARl B MR A1 "Edqul TSl &) Bl U
et e sfaeRen & SR 39 dRE &1 WEI' A1 HeUl TSl &) B A1 TSl B
HISI&T &% BT el N |

IS g-aR® A & b A9 B GAE ) OChN B AW AT FEaqul &) Bl g d
afdre 2 dl I SR ' fb &t &) (dfve & emdl # 3fg) ¥ fREae @1 SHie 2| & @
Jed g &R W, d U FAHa WUV AR & dfvs H gRafid $R I aifd

(i) 9 dvs R Iwg R B Red HAT 9dhd ¢ | \

(i) 9 99 d A P IR R H AU FRMEe & SR 9ivs @ HHdl § ghy b
IRUFIEY GoiTd oM &1 IHIE B 3 |

a fARd, af o9 gRe AET &9 &R B FH T KR A ) D o § o@d g

T, PR AT H &l @ SR ggd @ SHIE § (@ve @ dmal H iRe, @ 9 9ive &

golll IRel Adhal © ©F # U+ Huf W@ & fory o diesare @ifd: )

() IS A D ARIH I AREH B el JHEr BIeT g,

(i) 9 YSINTd JHAM A g9 Ahd © Sl 16l o)1 H JGAT glg A ST BT, IR

(iii) IR ¥ R IO dbfoqds FHfd TR Il | S1fd gl |

(iv) It 9fesy # =19 <) # gfg & 2, 1 9ive &1 3Fd R Seft 8iR el 9ag 9
ﬂﬁTEﬁwledelusﬂﬂ%IQﬂEﬁ%‘l’QWWWW%Sﬁ?mW
AT e AT B |

Answer:

(b)

a1 erafy @ e fdemy @ forw faxim ifd (Fiscal Policy for Long-run Economic
Growth)

T 39 IR 3 9% T4l PR N © b DY IABNT AT PEd ReRar iR ISR & W &l
gAY T H HERAT & oY JIqdbIel § Gl AN Bl YT B @ [oTg JHTdl IUSRT & /4
Hd BRI HAT 2| EICifP, FH AN B UARd A b fog NN & Ay " B
At <9 9T & A arell e gig &1 SR A8 B ARl | AN Al S
g glauel & @9 § WlHd 89 R M dR R GeRIEd AY—gEEE B[ 2 | o9
WHR Th IS A e &1 FEior a1 § FEadr o=l &, a ol &3 o g8 forg
JUET S T UM fBar Sl © | RGN a3l o R, a3k e anfe &
RGN WG, Qedifad e e & fore 1t ua™ a=d 81 Uéh el v 9 feumge
fPy U B AT S F9ER 3R SAFAT BT YA <l 8, el BT gdiedrad &) |

}{1 M}

{12 M3

>{1”2 M}

{1 M}

N

{1 M}

J
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o erqaral o1 gerdr e, ST a9 &A1 ar8d € iR 39 UbR - Jfferawer § gfg o o
HEE PR B |

Answer:

(o)

R fgeeq fRg DT a1 wafod Rere srfagawer & W & fewam © ik i)

RISTH o R Sl Aa¥R dh B fRAR SR ARa B HH hl & oy ¥aaiieis &9 F 8 81 { ey my

G MAPR, AR ARIBR R SRR YA (SRISHTIRT GGG, BB ATH) T

ReRIdxor 811 | 3 Walfeld TR #al TR & RM dhd @d I Idfid B 3R
fdfeh fRAR & SR Fdhel @d B HH B & fod B F_d | ol [ 89 S €, #d)
@ IRM 3 H HHI 37 ; WM PR S & A, (I & (U § AREe g St o
IR TS TS B 3G BH B A AR I, A & e H FRmae el o f6 @
TS TS 8| S/ HH B YA AR A & HB B Ui W B $Hb WY T WIR b
@d IoE ¥ G 8 2 ol RIONRI o™ | I Sl fAdar o_1 § ST & 29 &
foq smguifte &R fd® vasT oMy Sude wRId 2| U w@Erferd ufafeael & ema #,
BT

T H Tl AT I & 3R srefarawen | wdl AHIaHg e "l H Us SITeT |
s fAuId 59 U sefegaRer dgdl o, SR &1 gig 98 Il 8, &1 ) YIireiia gomel
Eﬁ?ﬂaoﬂ*lizﬁvqlqmwmémqw%zmﬁﬁseﬂfﬁamaaﬁﬁﬁ%l%ﬁwm
I & | BIS I & 3R T UGR Gl A I SYANT # ARG &1 HROT a7a1 21 52
we, i g% STaar g &R IdmE! @I STed &7 & U f[AdIRd @R & SR
SUAR Bl 8 | Sod AR B A1 BUT T HH IR & q1ef Bie ocl 2 e S Tud
IR e # fiRmEe o &R 39 a8 @ AT A iR fWR & dRA R (R g,
ST BRITRYT YA & HEIH ¥ WRBR T Bl © 3R $H BN I & A1 I
B B ad Hafyd gl 2 )

Answer:

(d)

THRIHAD dTEIAIs & SMARBIGRT FHARTT B B U A Uguer &I &I AR &R @l 7 |)
PR BT MR U HH Bl IdTa- B dlel UGl I AT R R HRar 21 39 &I Bl AL

{1 M}

{1 M}

ﬁﬂﬁiﬁaﬁﬁ?ﬁﬁwaﬁmwﬁmwﬁ%l%ﬁa’cﬁﬁmwﬁ?wwﬁﬁqﬁzﬁrsha“lm

faeTd® ardl o 918l Fel fBdAr S Adhdal ©, 3R SHfely SR &1 9eRT forar SHm amfey |
A B UGEU YA gRT (B Seure 1 Afafafy @1 dd § qred anTdl ®f fafEd B
e T | IIH T ®I F, TR Bl IATRA (9 Il a7 S Io¢ drerdl g o ( /
IS B HIH) TR T STl & | UG B Ul SIS b 10, Ygus Bl el aRE A YITaH |
AT UGWUT Bl HH HR+T AT g9 MYCH # B 1 ORE | G BRI | IR IAGA AT IUANT
DI Aol arTd 9g St @ oRfl f aRRerch &1 Aot 8, 3fR AfT & #3m # &9 Il ® 3R
Z4eTT TTBT UG HRAT ® Sl ABRIHD dTeldl HRal © |

J

Answer 10:

(a)

ufdde a0+ Uh Rufd @ R order & IR § o 8 O ok W iy Joraer o
gl ¥ | U8 IOIR fA%hddl & WHU & od S~ gl 8 9 SRl &l gil gadr & HIRoT
fIPpdr 9 d8a) g1 § qAT I8 AARI IR U &1 fRTs @ad 8 | SR & foy d9R
IR H Uiad a9 &F SIIRgA & H1 Afdd & WIF TR ST 86 ddb 4T Havel bl Ui
A $ forg ygfed & i ST Sa1 &) gorr | Sl dar 31 @rerd Reafd & an § &4
S § AT g9fely ST WIRgH dr RF GIRgH Afdddl & #ed fdR dee | e
safery ¥g W99 2 5 vl v A Swa Niffem 8 @1ifs BH W Bl ST SliRked TTEd ol
I BT BT BRI B, D [90g @A B AT BN & | Gd A SRGH U8d M1 BRAT 81 )
FRAT AEd FIfEG T8 7 2| e Yoic A AT T SURNIT IATE HT I BRI & 7T
TP dOTR Dl Bls od & o “The ok’ @1 Reafd & axve o oirdr g1 3afe fasdr o wu

13| Page
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MITTAL COMMERCE CLASSES = INTERMEDIATE - MOCK TEST

AR BT aEdl 8, S (A8~ Bal & U SIRIA &1 8¢ &) Uga & oI o9 dor a9y
P Gy | BB ARTT Bl HRAT ISl © |

Answer:

(b) vaEIRRd RIFMY &R Wemdd & o<id Udh <9 &l Bl BT A &) &1 Agad Jed 9ol
iR 2 rIfq o &1 A JarcHd ST @l ART T myfil 2 |

Answer:

AT HH § S YT Uh UfoRTgl IR H faedH 8 | Sarexvl & fofv Siard | §e7 o 2R,
R WERIAT a7 Al Ul 99 BfY Ie Bl UP oW D AR H OHET 991 Fohd © | STal
PIT BT GRUH BAA DI ST IAEd H 2| 99 aid dgradr & fava 9o #§ enfdaa

{2 M}

{2 M}

JMITYS Bl 4 & oIy 3MMaeTH & S8l UR B HH o | SAGIY, ASRIAT <2 MR A B1d! ({1 M}

SATET DT IATe a2 f=rafd o dad 2 |

Answer:

(d) I G o [fed &=l € b sar & o &0 & IR H 907 a1 © Sl S IR Bl
g PR Fahell © BRIl URRdg! dIoR &I U Heayul O © | ol [ahear S 8hil ©
S AT BT TG BT GROTH Iuradr derr Afar &1 oig &= § 81 Gdhd1 8 S B Bl
B A1 W | o Awadr avg dn dar e Jagr & omar 8, &) dfed uafa &
PHROT, JAYE qAT YUl STl Fel T Bl IR IUALIA & BRI IRRY IR gaddol H Jad
EREDIRS

Answer 11:

(a) fIva MUR AT (WTO) &1 PR I ARG AR HI AR WU, Jad w0 4 Ied w5 )
A JAT8 B AW AT 8| S U IR & forg, fIeq @R e &1 g 7
(i) RIS AR & foly 99 &1 e ST Tl dr] a1,
(i) o AR ISRIGIOT I Aiedroll dl RN & ol BRA & TS BT |
(i) MUR fIare o geasmn
(iv) foiis o & oReRr & g™
(v) dIRg® e yayd H ford o WiRd SIRISER ARIE & |1 AN qei
(vi) dRa® AUR REH ¥ YOI o BT SoM H [Jaraelial <1 &1 ARl &R | )
ST UPh QI 309 YR ARIGR $I fQdr Haraq MR Il &I 3¢ Ioldl 7, 39 Jaidd
AJhe < Rl b1 3fiFde ISM Bl Pl Gl & | JoId: GATT &I JJeos 1 & w©Y A
fodl SaTe @1 fddl dfaeT vl @ gRT Uer sl o, uet, faRiwfder srerar ufoRem &
I UEll DI &F D oY IgHA AAAT AT TSIl IUTE Bl gRd qAT &1 e & g_i |
WTO THeiIdr & 3id, <2 AMId: SR AReRI & 78 HEHId Hal &) dAdd | T Th
< AN BN GIRAT B S (P AR ARIER (S AR 3[R B HF BT 2 Al ol
DI DAl 8) 39 39 WTO el &l I I Al ¥al & Gy H I q8] Jaiaq JasgR

(c) Wﬁﬁ@ﬁ&ﬁﬁ%&%ﬂﬁﬂ,@@ﬁﬁ%ﬁﬂ?@ﬂ%ﬁﬂ%aﬂﬂﬁwﬁa%}

ST BIT B 1 WTO WSl & AR, Ud 9ad |l Y ¥ewdl &l R ¥ “most-
favoured” @R WEW & Y # A © |

Answer:

(b) faceh ucger fder (FDI) &1 U W @ U & gRWIT fhar Sar @ Sigl o) U <97 (3rerid
TE <) BT AR Th T < (AT Aoa Q) B Uh WRRT § @i B SIfRnyfRd dear
2 TAT Yol @1 39 UBR &I JaHe H Hold[ <2 § R o Wi, F>haor o gyde fod
2| Uge Fae SREL, |HERI, S 9T Wi | aRdfad e € den i 2R, e g,
oo fafia erofd de ofdd: HFAl HUT & WeU # I Uode Yol ¥ facel uwuer faer #
e qem Sed duT U AR A JS1 g aMl R der IR il @ 7eg are | A

l4|Page
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{2 M}

{1 M}

{1 M}
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A |ftaferd €| el e Mawr o deeree ey fora g den e f&a qur o

P! URSET Rl 8| IMF T2 OECD UR¥IST & AR, ARy (aerd &9 Ardsif-e Jferar

Aol Iuq § AERT AR S7dT AANSBR BT HF H HH 10 Ulawd &l ARHIOT 59 FDI & )

w0 ¥ qIffpd B d foy U g4mar 21 FDI @l &, SEaieR, Yoo a1 & aNieT faaeh

e & wu ¥ Fffgd oxar 8 o aRERe 9w 2

el e e &1 o /

1 faeht fraer &1 o &

(i) faeel Sy &1 g9 Ut ufoRugl UST &Rar © 97 Hofdd <97 | UfoRdg] araraRoT Bl
I HRAT © | B, I B dIoiR H uRErferd faqell Sed & arer Ufug! &3 &
forg @ 8| e URUM AW &I QT I[oTadT gUR ], ST GRlerdn ae
JETR G B gedl fAfdear dom &9 BT W Hael & [@wey § aRem SuHad &
forq ggdr Tg= qur wHeareT B JAREd HRar 2 |

(i) RIS Yol BNe| 99d & Hpldell SATGl A9 &1 o @1 omsm <ar & R
URUTH JTa IeTEHAl AT 981 §8 ATSCYS © | IWRal qof fadraefier <eif &1 uRqwd
W, FDI 3aedd Yoil, YENfied! AIers, Yaedid gHereldl aor fquer aRier qeim yeeeh!
AT THND! B WHY AT AT Yol HRIAAT I Y& PR gl DI 9T Fbd o a2l
anfefes fawrT &=ar g1 Spill-over Y¥d wIfh ura: =Y Wenfie faceh fvm & smr

Bofdl 2 | 39 faRad, =N enfiie W wu I urdadr <9 1 Idred GUTIAT bl
gerar 2 |

Answer:

(o)

TEh HAl O IO B 7 oo wrof Iy fRae woEkh § sear o wiel H, o9)
JfeaReT R B © | Ud Aal R arell o %1 ¥avel ¥R SUTe (GDP) & w4 #
AT ST 8, ¥ i ¥ e aﬁgﬁéﬁmﬁﬁﬁwﬁélaﬁaﬁmﬂ%ﬁ

{2 M}

& IR AN AT H ARG F1 g TR §, 39 A A H HEl S © | e Hdl {1 M}

TPRIAD AMdh AR ST Adhel B¢ Sle gRT AMT Sl 2, &1 [Jwqid ae |
e seferaven @ Refd | I8 A4l &1 Affd Wwy § Sl f[ARRa SRISHIR), ddr gal
YR g, ISy IT M # fRaRd fRrae dern mafisfa @ avw o Simar 2| )
PR JEU AGSh G B o1 § HH YAl 8, Hal TAT JqAE F T8 & ol ARBR
& Tl A fad N o1 dered R 21 Fefha dur @fad ema R § 5 referawen #
Heperd Ugfd TR BIg U S AT ST AU €| R § HAl I8 I MUSREAN 371G DI Il
2| @I ITART @ WA ggfa & gRT FeiRa afaRed Muermara s &1 Wi & @9 &
STOT AAT FI BT UTH 91 I B RGell Uldlhal, 981 g3 I TAT IRV d61 §g 3
2| I PR O IATE IR, 9T IR TAT AT Yob DI &I H BHI STANT BT Fafgd daT ©
TAT I a9 BT IS B | I b, HY HIY I qUT SUNT II H forad dRA @ forw
BH TAT T8 DI U U&H R Fdhd © AT JUCATST Bl HH R Fahd & |

Answer:

(d)

o S BT O T 7T SRETT BT AT B UG W AR @Rl 8, 0= (ER/D) S €|
MY &1 U MaRe & wU § qioad 96 &1 aeR & IAHRa B 8 | aivias d9@

{1 M}

DI ADHE ARV & WHU H Bl ST BT Uh 9RT Bl G BT | aTioiyes dfdbT ReH BT\ 1 M3

AYOT & Y H IRA(Id STREVT TaRAS AREATT AU SIS B AHaT & Rifds % Tha
WO B WHY H SHAD O P dUTNG BT [ 3D Ufavd Af¥d g Ahd & | S wfdd
g9 B AfaRad gfae S a1ftiiars & @ ‘anfirag o # Sirar € sifaRed o o avw =1E))
o ST § AT gAY A8 SR HA €9 Bl Fold Bl aRE el o o1 | gafeg, Al dar)
d% dfpTT ReeH ¥ g9 BI SIAdl 9T 5% b7 RIEH & gRT Ea Fod & wu ¥ g1k

fpar, STHT J1eraT ¥l TR PIs UHIG FTel BRI def 3fAdud & T[UIdh UR defl SHiely e 3111'%}{1 M}

TR Plg 9T 3 2 |

J
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